g0 58, 713 _ _
Lieferumfang: parts delivered:
by ?} %I
@ 1 set Kopfteilbeschlag @ 1 set headrest fitting
o]
o~
gl = @ 4 St. Schraube M6x20 @ 4 pcs. screw M6x20
o
g % Il .
. @* N Cor & @ 4 St. Ku-Scheibe @ 4 pes. plastic washer
— o] 1
- I y "
RA 36-00 6 1 7) PD 17-25 . E \‘\ of: 'obo @ 4 St. Mutter M6 @ 4 pcs. nuts M6
i ™~ \ \ 7
3 m "\ \‘ \@
r = u —y o \& @ 1 St. Nebenmotor @ 1 pce. slave motor
- 8 @ 1 St. Motorbolzen @ 1 pce. bolt
EJ : Z (@) 1 st. Schnellbefestiger @) 1 pce. quick fixing
- @
@ . 1 St. Motorkabel Nebenmotor 1 pce. motor cable slave motor
b=Innenmal Riicken
internal width back frame -
2
9] | *separat sind zu bestellen: *to be ordered separately:
S~
1 ] 29.3 [~
e *
RA 18-03 @
[E ] 85 article no. mBm mbm
T RN 01-09
~J
kN R A 1 St. Quertrager MP 34-40 535 460 1 pce. crossbar
Q‘ i \@ TN MP34-47 | 635 560
710

% _:l MP 34-48 785
I ;

~Lc L
DETAIL A { i *19
1:2 article no. mBm mlm
Ks 35-42 (1 1 St. Quertrager | MP34-50 | 535 387 1 pce. crossbar
MP 34-51 635 487
MP 34-52 785 637
ON 35-01(5
article article-no. Index| 005
MRV, ' (8) oate-es mot. Kopfstiitzenverstellung fiir tiefe Riicken, Kombifunktion - Schwenkbereich 108°
e mot. headrest adjustment for deep backs, combined function - pivoting angle 108°

date/name

26.04.2018/Gr

ol.od.

<

L DA 18-26
Tw

‘ Tel.: +49 521 9417-0
et info@lusch.de




